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Question ID : 65497837711

Status : Answered

Chosen Option : 2

0?2 o e ¥ ey & SRRl § ¥ FF w Fya g 17
Ans X 1.

faede Rrewor Faor it argat &1 REn & gwEeer =
x 2.

@R F dhael WAETRF (WRE) gearst w 3@t () fFar s g
3.

W, B Fr T gEAET F TR F Il THE TG A &
X 4. AW FTAFI. ATHIAT I AR gdr 2

Question ID : 65497837677

Status : Answered

Chosen Option : 2




Q.3

Ans

e R v st F w9 Ul fETor (statement of affairs) fYr & 3T Fwa gw e #r TOn
e

S A UF Fee TN F A § #R T 2l wRfe somer o w6 1@ €1 31 A3 2020 # 9

275,000 ¥ A A 7 ek s & B 212,000 a5 swaw # 212,500 7% G F w9 A
Sl 31 S 2021 &7 SAH IEAAT AR AT W IFR §- T AFEN HF9 290,000 R T EwER
T 21,26,500, Teiw & Hew 124,570 3R dw F 225,000 Fwa

x 1. 286,070
X2 212,570
v 3. 310,570
X 4.398,070

Question ID : 65497837684

Status : Answered

Chosen Option : 2

Q4

Ans

A P & &% arEgs 7 31 A 2021 #2924 F FA O (FfEe v Rwmmn dww @ @ g @
I i W Aefaf@a o o

1.4\ P & rurdr fdell & seEw 2200 & svafier R @ sprae R o, S A wd & A
few @ am

2.28 A 2021 F1 &F F AT 05 F IF F 4 3T 2021 FF A AG g

3.31 AT 2021 Fr SFF P IR UK GTE F 46 F I G mwm Tw FF F 12 34w, 2021 F
s TR amam

31 71 2021 & IF3 T (R TF) F IR I W =1 I

X 1. 31,235 =7 AH W (3T FoA)
v 2 31,143 &7 F AW (3fe F=om)
X3 71,189 =7 FAT A9 (FfEe s94)
X 4. 3705 FT FAT 99 (FfEe W)

Question ID : 65497837687

Status : Answered

Chosen Option : 4

Q.5

Ans

SIta 3R spras @ # Sty Fwed # @ #=r afdw gar 2
(i) Fo= a¥ & gatag @i Saar AR sEae|
(i) I TT FETHT I (F9) § FEOg @l wrieaar AR spEra|
(iii) TorET R S AT FERT Fr WA fRe fer '@l sitawr 3 s
X1 e (i)
v 2 (i), (i) 3T (i)
X 3. el (ii)
X 4 FHaer (i) AR (i)

Question ID : 65497837709
Status : Answered
Chosen Option : 4




Q.6

Ans

When an income is received in advance, the weatment in the Profit & Loss account and balance sheet, respectively, will
be:

X 1.
added to the respective income on the credit side; shown on the liabilities side

x 2.

added to the respective income on the credit side; shown on the assets side

x 3.

deducted from the respective income on the credit side; shown on the assets side

o 4.
deducted from the respective income on the credit side; shown on the liabilities side

Question ID : 65497837696
Status : Answered
Chosen Option : 2

Q.7

Ans

v r-emaEly TeA ow AR & fEOe & ww A ofF A 21,000 F geEE s @ A Boe @
#E & FRr @ e & 9T sk s e awr e oit @ a F weer Rl ofer s
FaET?

F. O
312,000 Wt 3 sfra= @ #; 210,000 37 3R @7 @ A

o 2.
10,000 W 3T sFora= T #; 212,000 37 3R @7 @+

X 3.
710,000 W 3T sfora= @ #; 210,000 37 3R 27 @A A

X 4
312,000 W 3R sfra= @ #; 212,000 37 3R 77 @ A

Question ID : 65497837707
Status : Answered
Chosen Option : 1

Q.8

Ans

U G, faar S O S 50 T oE@E TlEd &1 g, e FeE demiard ofr £ SEt e
&1 FpEh e 9 7 89 F aaeg o, oF BFE fBee 5 AaER 58 o # A9 ageamEr A
= = 7

v 1. HeHaTH AT wH (Substance over form)
X 2. ge&ddr (Neutrality)

xs. HE[U‘IT-!T (Completeness)
X 4. Taeg@aT 9¥gfa (Faithful representation)

Question ID : 65497837676
Status : Answered
Chosen Option : 1




Q9 x 3k Y faem Rl ey F v W B F sEfER £ X & 30T & w9 F 39 o A ¥
755,000 forerer e #F €ERT X ¥ 30T W e e R o wear 17

A v It s A€ T ST
X2 5% @ TN a7 ¥ == orr FrweT
X3 6% @ AAF gT F =Or=r forgm Areem
X4 8% W AMGH eI T A Tordm AT

Question ID : 65497837697
Status : Answered
Chosen Option : 1

Q.10 Which of the following statements is INCORRECT in the context of accounting concepts?
Ans X 1.

In case of precious metals like gold, the revenue is recognised when the gold is mined and not necessarily when it is
sold.

2
The realization concept is related to both revenues and expenses.
X 3.

In case of sale on instalment basis under hire purchase transactions, cash received in the form of instalment is the
amount of revenue recognised.

X 4.

Accounting systems based on the accrual concept is also known as the Mercantile System of Accounting.

Question ID : 65497837679
Status : Answered
Chosen Option : 3

U SR Beet § ¥ FiF @1 v U =T 2
Ans X 1.
FREH H GRAT F FHaed # REan & e gid 78 qweE

o 2.
fFafa 79 @, e & #tew &, affs 79 ¥ fre T e Res AfeEt 93 225,000 e

x 3.
Tidr 7§ =l 3k 3= Tue & v gers W 37,500 w1 0w

x 4
BRAT & FraTeE & HAUT 5 v v FHReiEr # s #1 sea

Question ID : 65497837700
Status : Answered
Chosen Option : 2




Q12 e TA-TE F Tow F e Reed # ¥ Fa @ Fue o 32

Ans 1.
T FOTSH & dFa, e A EFERt A ARt & @it F Aev F wwwfad w4 g, o 8=

e el awfaftes ofafe & et 3t oaert ¥ wat &1 gamfae = &% & s §1
X 2.
T-HEe TS A, Neiw HEE Wa-SA A WARd WI-aE FATAS e oa Shar e g
X 3.
- TIA-AE GO 1 3 X WA FUTA # § S Aw-a B Tpla F IEEN waatedr o
Fefta = B

X 4
e TS A, AR ) A ag-wrer R e S €, G aarad), surerr (Fe) wrarad
3R AEw TrEagn

Question ID : 65497837714
Status : Answered
Chosen Option : 2

Q13 7 Rfadw (@Fqheafen 3 @it (@ ae smersmer fr e s § & Riawr amr
¥ wae grer

A X 1. Faer 3T AT
X 2. 3re-TAffg e 3K d9R A
v 3 F=o A AR 3-FFET o

X4 haoT H=< AT

Question ID : 65497837694
Status : Answered
Chosen Option : 4




Q14 Match the following accounting concepts with the meaning/implications.

Accounting Meaning/

Concept Implication

(i) Money (a) Capital of the

measurement proprietor is

concept considered as a
liability

(ii) Business (b) Fixed assets are

entity concept valued on cost basis

(c) Changes in
(iii) Going purchasing power are

concern concept  ignored

Ans 1 (1) = (b), (i) — (a), (iii) - (c)
X 2. (1) —(a), (ii) — (b), (iii) — (¢)
¢ 3. (1) =(c). (ii) — (a), (iil) — (b)
X 4. (1) = (c). (ii) — (b), (iii) — (a)

Question ID : 65497837678

Status : Answered

Chosen Option : 2

A i M TR F et F AR d e S wsw w0

AN X1 SEUT % AR WX 9IS TS T @HE FAT ST B
x 2.
fashr 3t sfaes & 3muT W 9 A9 F WA AT AT 2

X3
= @lig, 7, 3uX @ig 3T 7 93 (return outwards) ST TEY 1 I E
o 4.

=TT (27E) @y = foEe wie & oy 2fae T o € e e R & my FfEe G s
2l

Question ID : 65497837695

Status : Answered

Chosen Option : 4




Q.16

Ans

fa=fafRa & ¥ =9 @1 Faa7 @ 272

x 1.

= HfEE g Fr A TEE S g, A AT A ¥ 9EEs S 97 o e ¥ R e g ow w5
Ezcakticofe el

x 2.

FIFO (vua 93T Yo 6ETH), adAe ormEr & aaA7e Toreg ¥ & &ar 2
3.

5T RS g F #0F qam S R, & i At F Eed Ee WA e F R e s s
FH FTF HH AT

X4

- TUTer F vw wle/fh dwea ¥ v TRaT segan 1 sEeTwar @ g

Question ID : 65497837706
Status : Answered
Chosen Option : 3

Q.17

e A & 1 Faady 2021 &1 B 9T 725,000 7 6 #Hee = =g Bo swefa @ 2 7 9% o @
FAE, A A AR 0% # Tt R e FF 95 W o @ Swen ) Be woge & afir amer
¥ (Peas HpT 99 Ieal & 994 H9)

Ans X 1. 2450
¥ 2 3833
X3 3938
x4 31,250

Question ID : 65497837712
Status : Answered
Chosen Option : 2

Q18 = awgw # v o 99 (ST &)

Ans

o F A T § HR Iws T (R gF) F A o
(3e =) I Fr FF Far §

X . HERgIHE,; HEEwe
X 2. HeThel, HERZIFE
X 3. HIETZIHE; 3Telhel

v 4 Helehel, Hachel

Question ID : 65497837686
Status : Answered
Chosen Option : 2

Q.19

Ans

FEE@IE (journal) & Tesl # FAR@d & ¥ Fi9 °1 Fad T 27

<.
T (journal) &, =¥ SigeEs, GuRE SR, FRdEw sRfed, wifts st At sfan safeat
3 A FT chateug w9 & el fear s b

x 2.
TEEE (journal) F T FH - eowuTeAs, P A WEEw
3.
TEETaT (journal) & W gTafSe H g T& & T A ST AT ¢
X 4.
FEETT (journal) FT 8 YFRT H F1ET T 3 AT @A AR f3fEee sgmran

Question ID : 65497837685
Status : Answered
Chosen Option : 3




Q20 Fy Fmererrsr TSAT F Tedd F EATRRAT F & BT AT FUA 7o &2

Ans 1.
sma At zaw @ #, vorE st e wiftadt aw s (orfe, aaEe sl sfas & el & B
gt @ gehee frar s &
X 2.
T FeeE # W & #Ew wa § () Serd @ 9rod wewaar 3Fw (i) @ (i) vermar e el
X 3.
TS WeTaH @ FAEIAACI & §9 H Heried fdl a1 § AN s Ao 781, #g we
#
X 4.
R-emmEr weAl & TR @ # e AR spErEe @, s AR oww ae ke F oo A gee
(&7 ofe) e B &
Question ID : 65497837708
Status : Answered
Chosen Option : 2
Q21 Fow o9 @FF o) &, 57 T & off 7 ik 57w GehEt # FE i giee T e € A s
FUT FET A 82
Ans . g 4
X 1. A=A (liquidity) F &H H FHaS B
X 2. Aged (importance) & FH H FHAEE FLA!
v 3 TUTfdeT (permanence) & FH H FHIS Hia
X 4 qruffe&ar (priority) & FH H FHEGE HLAl
Question ID : 65497837698
Status : Answered
Chosen Option : 3
Q2 gt AR TerET T F Wew # PeAleieE § @ i @ U 7 87
Ans o 1.

Tofed W #OFR F= & o0 Fr Aow THEET TSET 07
X2
7 & T g g% T F sedw & v ow & 78 3 G s g

X 3.
&= Tona & v osde o= WA F T F 5G7 97 =57 95T =97 2

x 4.
G T WA AMF F ATAT T T 24T 2

Question ID : 65497837699
Status : Answered
Chosen Option : 4




O fae # 57 Y ¥ TEe ST e g g
AN X R J9ET (rediscounting)

X 2. s =7 FIEOT (renewal)
v 3. f&eT T A= (retirement)

X 4. Trer &1 J5aTRa (endorsement)

Question ID : 65497837710
Status : Answered
Chosen Option : 2

Q.24 v 7o 28,000 # WIE ¢ IR T T FT T F gor Fr M| 39 I F FROT, AT Ihewr (Fw
W) 9T FUT TAT TEIT?

Ane X 1. 216,000 T 3T @)
X 2. 34,000 @r 37aX fe@meem|
X3 38,000 FT 3¥a femroem|
V4 P HR Agr e@mEm|

Question ID : 65497837690
Status : Answered
Chosen Option : 1

Q25 fmmr & g6 el SRE A 3 e B SW AR g A A s A Ry Fu e 32
Ans X 1. HaeTT (depletion)

X 2. Fed9 AT (obsolescence)

X 3. Hed@ld (depreciation)

v 4 FoTEr (dilapidation)

Question ID : 65497837701
Status : Answered
Chosen Option : 3

Q26 ey sffee 1961 1 uwT 32 GEWT PNiRe seuEw A Rfdmt
i) Beaea fafdy #r s
i) gTfda Heafafer
i) =ut & R T AT Sl
AN v Fae (i)
X2 (i), (i) 3R (i)
X 3. haer (i)
X 4 aer (i) AT (i)

Question ID : 65497837703
Status : Answered
Chosen Option : 4




Q.27 ofy Femsw @ F e #1% s9u= 74 e v § O grmew & o g == F B w5 ater

giafee a7 grf?
Ans =
Futg @rar Dr
o1,
To H=TgrE @I
=met 3iy @fs @mar Dr
X 2.
To Tufey @rar
HelglH WIdr Dr
X 3.
To = 3T @ifr @rar
HeTsH Grar Dr
o 4.
To Hufy @ram
Question ID : 65497837702
Status : Answered
Chosen Option : 4
9% 3 v AT o TEE F FqeT 9 8

A X oiifEe e + @lE - A w1 - Seus =g
X2 qfdiF TEw + @l + IaT TiF + Ycds e
X3 gfdrF e - @lg - e =i + 9eue T
v 4 9RfE+ Tk + @le - A7 =iF + voueT =g

Question ID : 65497837704
Status : Answered
Chosen Option : 2

OB ey fafe Tef ¥ wed F Fefa & @ #iF 0 Fuw w0
Ans X 1.
¥ ¥ 2R 3uR Rohr FI 57 SR AT F FAGEW S & T A T AT S T §

X 2.
TPty f¥=70T (Statement of affairs) fEE=T 2T &, ifF =0 SRY 9RT JEem @ T BT SEr 8
3.
Tl GAGR IGT AR & ¥ & g 3uR g fuifed & o wener g

o 4.
s o o = 7 st T B B | e owr & 99 1@ 7 sees S 8

Question ID : 65497837683
Status : Answered
Chosen Option : 4




N St = Bee ST

1. daf5as @Er a. Hafcadl & Hed
2. FrEataE QT b. ®H 9T TR TET

3. A A @rar c. FI AR =T AW
Ans Wi W=g Sl 3 g
X21-a2-¢,3-b
v31-b, 2-a,3-c¢
X41-¢,2-b,3-a2a

Question ID : 65497837689
Status : Answered
Chosen Option : 4

! ST § ¥ P9 O aEEEs adeT J6 27
Ans X 1.
XYz faftes 7 g 3q Feltax Tiest & T 210,000 &7 spErar famam|

o 2.
XYZ Tffes A #1 Hfd F U F AES & T qIAT W ¢

xs.
XYz Rfaes & 3ra smafiedia @ el sFrae & fov g @ @ 3|

X 4.
XYZ foffes & #r A & |uear $r 3t 37 35,000 Fr §a97 9 |

Question ID : 65497837675
Status : Answered
Chosen Option : 2

Q.32 The general acceptable accounting principles (GAAPs) fulfils the conditions of
(1) Relevance
(ii)  Objectivity
(iiiy Feasibility
Ans 1 (i), (ii) and (iii)
X 2. Only (i) and (ii)
X 3. Only (ii)
X 4. Only (1)

Question ID : 65497837682
Status : Answered
Chosen Option : 1




Q.33 v o1t swtw # AT = & v o ot Fef@a & @ S & @i

a&mmBa;‘rzSOﬂmmmﬁmm&ﬁzmaaﬁza,oaomwmﬁgﬂ, 35,000 FH7
e Gles & o sifaw Buew e

Ans X 1.
St B Ale Dr 75,000
le g H 74,000
T # Sl a9 7500
x 2.
#irarer B A/c Dr 74,500
A% TS A 74,000
@ # 9T 5T 7500
x 3.
#ATT B Alc Dr 74,000
#He TT H 74,000
o 4.
2\ B Ale Dr 75,000
T T H 74,000
g H gl a9 7500
QS H 9reT =37 7500

Question ID : 65497837688
Status : Answered
Chosen Option : 4

Q34 m=gges wEn-ar s F s & F F7 F fEEor S@r (control account) g9 BT S #7
(i) =i =& A= o

(i) Fadr =8 gmsw FEr

(iii) TTHET S TEESS o@r
Ane K e (i)

X2 wE (i)

X wae (i)

v 4 (i) 3R (i) =t

Question ID : 65497837713
Status : Answered
Chosen Option : 1




arfew
Ans o 1.212,000

x 232,000
<3 310,000
x4.314,000

Q.35 v sEiER @ 48 & Bv ThE v 212,000 AT F 9T H WAT T TS F 12,000 F @Y AH
sren wrr (3R B ) guns 9k & s e (55 ese) # ¥ 3fae T S

Question ID : 65497837692
Status : Answered
Chosen Option : 3

X2 g gfae=

X 4 FHMET T

3 TR T FT

Q.36 G=fafem & & w9 &, sl = O gleror (graw 39 & a9 oy (3R ) e
A +
" X wfRE JrmEw

Question ID : 65497837691
Status : Answered
Chosen Option : 1

Rffes ezl & o IRARET F AT F FS THEIAT T A B
X 2. Sr@ieper gfyarfear Rfer ganr g #r s

X 3.
T FeRErRRoT T IRy Fr 3 & 9RO (convention of prudence) st FET FET &

x4
@ ot # seAe F #E cfFana @ w4 e ¥

Q.37 &=, 9fw sy Sl avget W HEwew weitE w7 @ € A 3 S F T v mw A e

g Fuw fore s ool & wafde 82
Ans X 1. wfearg $r 99T (Convention of conservatism)

X 2.

qUT FeREreRTuT Fr 9fYarér (Convention of full disclosure)

v 3. gitewar #r af@rEr (Convention of materiality)

X 4. 3% &r garer (Convention of prudence)

Question ID : 65497837681
Status : Answered
Chosen Option : 1

W R iR T T T
Ans o 1.

Question ID : 65497837680

Status : Answered

Chosen Option : 4




O Grfafed & @ #iF @ 3R av lerwr (@Ee o) § Rw e

Ans

o 1.
#AT A & T # 500 F T F BT T spEra oAt a” g e T

X2 3mrer anfEgar & 5 Fr g e Jaa
X 3. GeAl= #T IUR TS 1 A& Fdr FLT

X 4.
AATT A T 9Ieg T Y, T ¥ AT B F @S 7 Fiec T & am

Question ID : 65497837693

Status : Answered

Chosen Option : 4

Q40w T (358 & W A T IS THT PR F ¥ T @ e et a8 £ o
v Refr AR v wmeg

X2 F=e A T WG W F AN 3T Yok

X5 TR g AR fEe

x4 TR R IREaT 3oaea Fufieag

Ans

Question ID : 65497837705

Status : Answered

Chosen Option : 3

9 FEEY 2020 F WA 159 faem amanT &y sifow R % sgEm, amwer 3 s #r € & S w1

h &7 fEe HE (IS TR F_ TSE F WY @0 G Se e
Ans 1. 41%

X2 40%

X 3. 45%

X4 42%

Question ID : 65497837717

Status : Answered

Chosen Option : 4

Q2 fow 3T FVFT (SDR) F T T e e T e s o @@

Ans X 1.
SDR #gT % #Hed & 0T afee 3R 9T H7 S E

X2
He13T % SDR WA H AU Slor, TN, Sl A, I35 Feforer anfdAer gl

X 5 SDR AW HaT H19 (IMF) #r T2 &1

o 4.
3187 # SDR & 0.888671 a1 <& Wit & swrex feveife Fvam aram ami

Question ID : 65497837763

Status : Answered

Chosen Option : 3




Y oRRT Y T T T P

Ans

v T 3918 I UACHS T H G 2T ¢
X 2. BrATT 39 G U AR F 3 g gl
X3 3T 3eE 9F U HER & 9% 2T 2
X4 PATT 39S TF L WK T T EaT g

Question ID : 65497837739
Status : Answered
Chosen Option : 2

Q4 Rrefafee # ¥ fE a6 3§ 9TE T & W ST G 9T # A e gw & T 9o
Ans X 1.1980

v 2 1966

x3.1961

X 4. 1956

Question ID : 65497837760
Status : Answered
Chosen Option : 3

Q5 gfear arer & awrer &, # AT FET-ANE (elasticity) . @F 7
Ans x 1. QL'_"”'

X2 HgTERE

X< 3. HTcHh

" 4. HUcHD

Question ID : 65497837726
Status : Answered
Chosen Option : 4

Q.6  The real GDP growth of the Indian economy is impacted negatively by which of the following?
1) Rise in inflation
2) Low domestic manufacturing activity

3) Increased government spending on infrastructure

Ans % 1. 1,2 and 3
2 Only 1,2
X3 Only 1,3
X 4 Only 1

Question ID : 65497837749
Status : Answered
Chosen Option : 4




Y PRI T E
Ans X 1.
A (FHE) 3% 3fe Ak FfEe, I FE I = wES B

2.
s #F, I el e AR = duRE Se ¥ B s e & e 4o

Tt 81
X 3.
T el P FYATH Feed FTFaer o 210 F3 g =g
x 4.

A Ao, TRIY & % T ®mOT & # F I 2

Question ID : 65497837769
Status : Answered
Chosen Option : 2

® mHEeE (isoquant) & @Y FT TR TEAT &7
i ST TR
ii. T FT ER

A X (i) 3R (i) @t
vz adar (i) #R a8 (i)

X 3. et (i)
X4 e (i)
Question ID : 65497837737
Status : Answered
Chosen Option : 3
Q.9 23 fadey 2013 #r TWUT FTAT UET VST TS F ganT wfarafys B o

A X FaTETeTe FEE TSET ol et e
X 2. QUTHAT JHIE FWA Faat THeT

3.

ST ST WAAT-TET Agdl Hehaswr A=
x 4.

SIASTTSr FAIET TIAAT-TSET IMATT sTeifaerr e

Question ID : 65497837756
Status : Answered
Chosen Option : 3




Q.10

Fifter F a7 379 T € F9 o7 F97 I £ & 3= s e #r d=ETear v,
TAEDE: VHT HEERG & WA S a1 @ e e @ dwe & B G e g

Ans 8
v . Z&HAT (Hawkish)
X 2. 3@ (Accommodative)
X 3. enfararer (Dovish)
X 4. gfgerfr@r (Countercyclical)
Question ID : 65497837764
Status : Answered
Chosen Option : 4
QM1 Which of the following statements is INCORRECT?
Ans X 1.
Money obtained under the Market Stabilization Scheme is kept in a separate account and not transferred to the
govemmem.
o 2.
Under liquidity adjustment facility, in a reverse repo transaction RBI infuses liquidity in the system.
X 3. The Market Stabilization Scheme was introduced in 2004.
x 4.
Open market operations in the secondary market are carried out on the electronic Negotiated Dealing System - Order
Matching (NDS-OM) platform.
Question ID : 65497837766
Status : Answered
Chosen Option : 2
Q12 gy i FIE-Hea-TIeTT (elasticity) F7 379 # yfiEad 97 F5g & A T A A
HfFTar 21
Ans

X 3gsrear $r T
wz.maﬁﬁaﬁrﬁﬂ?—r

X s fyATr Fr s
X 4. SHPHT HU=AT FrHT

Question ID : 65497837731
Status : Answered
Chosen Option : 1

Ans

A Prafafaa et # ¥ Fi9 @ 3c9e WG T H TF THUROT A& E?

x 1.
TR U 3R gaTarqeT 39T faar S @

X 2. glezfedr Tog war g
v 5 HETUSAT & dhfeud 3IUNT 4 BT &
X o FEYH GERAAG AR e @ €

Question ID : 65497837723
Status : Answered
Chosen Option : 3




Q.14

Ans

U qUT Hed W& A d% @ HY gl
i. T afas smaft =%

i. Ffer T FAT FT = Fgerar

v 1 (i) 3R (i) gt

X 2 ael (i)

X3 o ar (i) AT a & (i)

X 4. et (ii)

Question ID : 65497837736
Status : Answered
Chosen Option : 1

Q.15

Ans

B X ®RI & AT 9% g% AR s whar g
i. BN Fr FET F FRE
ii. $ua & Praar 7 FA
X 1. aet (i)
v 2 Fad (i)
X ar (i) s a & (i)
X4 (i) 3R (i) =t

Question ID : 65497837735
Status : Answered
Chosen Option : 2

Q.16 happens when a government sells only a part of its stake in a public sector company and retains the
majority of it.

Ans X 1. Nationalisation

« 2. Disinvestments

X 3. Privatisation

X 4. Devolution

Question ID : 65497837761
Status : Answered
Chosen Option : 2

Q17 Marginal Product is defined as:
Ans

X 1. input per unit output
X 2. change in input per unit output
+ 3. change in output per unit change in input

X 4. output per unit input

Question ID : 65497837738
Status : Answered
Chosen Option : 3




Q18 Q=L+K (R Q3T LT ARKENE), & T TF 398 Folel 20T 2
AN X damy (@) ¥ Sed iawd

X2 YA & Fea A TR vfawd, gEt

X3 I & " Yidhe

v 4 UAE & TR gfawa

Question ID : 65497837740
Status : Answered
Chosen Option : 1

Q19 = FERT =g # A IF gAMWW Fyamw
Fr ZafreT F

A A 3k Bree; amafd B oamn
X2 FOT & 3R; HAT; mafa Hr A
X3 S @ 3R smafa & AT S
v 4 F & R, A Fr A S

Question ID : 65497837734
Status : Answered
Chosen Option : 3

Q.20 The income elasticity of demand is expected to be for goods.

Ans

X 1. equal to 0; giffen
« 2. greater than 1; luxury
X 3. greater than 1: inferior

X 4. less than 1: luxury

Question ID : 65497837730
Status : Answered
Chosen Option : 2

Q.21 3 2015 &, oiva & U Ff gEw & i fRr e st o gfaad e
ﬂmmma&w&mﬁmﬁﬂmﬁmﬂ%#ﬁwmmm
mmmamﬁmﬁmm

AN X g HEETET dETeTsd T

X 2. g wor ferm o

X 3. THTE (SMART) & aiarsar

v 4 e AR gl wRada & v sea Ba

Question ID : 65497837758
Status : Answered
Chosen Option : 1




Q2 gy AT AT T A L TR FEY_ FaE T
AR AT WTF e @

Ans ‘V"]mﬁﬁa
X 2. FEE; FeaTer
x5 Sirergrer; atferst
X4 FEER; FEaTeR

Question ID : 65497837745
Status : Answered
Chosen Option : 1

Q.23 153 g ameT 3 sE # E R oW A ¥ HE Fawem e gl (FRme-ew ) F B,
HeET F Taferas-vom fds Feis B3 (MCF) & Aread 3a% Yeiid & MU 97 Yei= fohar
Eie

Ans X 1. 259,
¥ 2. 100%
X 3. 50%
X 4.10%

Question ID : 65497837718
Status : Answered
Chosen Option : 3

Q.24 As per the CAG (DPC's) Act. 1971. the Comptroller and Auditor General of India:

(i) audits all receipts into and expenditure from the Consolidated Fund of India and of each State and of each
Union Territory, having a Legislative Assembly

(ii)  audits all transactions of the Union and of the States relating to Contingency Funds, and Public Accounts
(iii)  audits receipts and expenditure of bodies or authorities Substantially financed from Union or State revenue

(iv)  audits accounts of bodies or authorities by request
Ans > 1. Only (i), (ii) and (iii)
X 2. Only (1) and (1)
X 3. Only (i) and (iii)
o 4. (i), (i), (iii) and (iv)

Question ID : 65497837716
Status : Answered
Chosen Option : 1

A2 o1 o F T F TERRT Reew § ¥ #iF @ Fud g 27

AN X1 JTeT were &, B TR FET i 7 & B

x 2.
AT T5F, 39T T Tt Hraat w A7 7 AT Fr ST 2

V5 A Ferd #, TS9O T 39T # AT §
X 4 T a5 HACGR O A AT FF e 2

Question ID : 65497837733
Status : Answered
Chosen Option : 2




Q26 375 ofy o¥ 9fy =afea & e W = gEre oo & ¥ fres g R @ are

Ans X 1.
greres ARt gERT flE graw wiedt s ae-Rfeyr v 5= SR

X 2. TSEIT WAAT WIATT (1938)
v 5 FIET Tae (1944)
X 4. FAHRT TAE (1962)

Question ID : 65497837755
Status : Answered
Chosen Option : 1

Q27 ymg @ e g g ik TR dEe v w0 gomer ¥ R o §
(i) sTafE =
(i) hdTF =7
(iil) FhTF TR
Ak e (i) #HR (i)
X 2 Zaer (i)
3 (i), (i) 3 (i)
X 4 maer (i)

Question ID : 65497837748
Status : Answered

Chosen Option : 1

Q.28 w7 &t FrET Ara-Aryerr (elasticity) TF A & B R a5 $ By @ 7@ A & A
FEas &1 gfafEa & siEEw e f

AN X1 raer FasireaT Y T
X2 ael Hed FEGHT T FAdr H
X 3. TO% ATEICAS @uer § ¥ T of
v ¢ waer &=t Froar

Question ID : 65497837728
Status : Answered
Chosen Option : 4




A9 fog & & Al @ sfww 7% (@EwT FEgat ¥ ) & o e 78 32
M1 get g@RT T T g g 2

X2 ¥ N U gEY F Shaeofed g aa ¥

X3 FTa HARHA 3% & HY g #Oe 3T

X o F AR Y 3R FF gO AT &

Question ID : 65497837732
Status : Answered
Chosen Option : 3

@30 Which of the following is NOT an agency function of the bank?

Ans X' 1. Collection of dividends

X 2. Payment of rent
X 3. Payment of tax

« 4. ATM facilities

Question ID : 65497837767
Status : Answered
Chosen Option : 2

Q31 wWhich of the following is a core concept studied in microeconomics?
i.  Consumer Behaviour
ii.  Behaviour of Firms
iii.  Aggregate Level of Output and Inflation in the Economy
Ans 1. Only (i) and (ii)
X 2. Only (i) and (iii)
X 3. Only (ii) and (iii)
X 4. Only (i)

Question ID : 65497837721
Status : Answered
Chosen Option : 1




Q.32

fFrerdrsfmeds (Guidotti-Greenspan)-IMF & |

Ans o 1.
ot F 3AHT HeuFAE B RSt (v = F sfeT oftyew @ ) ¥ avET 'SR H$E (I
e @A) see @ar dafEE @ #)
X 2.
AU F 30 F AT ¥ I A F AU F (WET ) F Fel F el ger 6w Fr awreaar
oA
X 3.
# yevetes el 7T A g F FEw gEes @ W v gaerar se gan st Oo
YA (M2 T $9T) & FTaT F A, a1 & wept 7 Rl e $En Fr g afhe #)
X 4.
Zeit Fr 3T seTEtaE el gt (o A ¥ ooy TRueT g T & s 'R 855 (I
e @) sev w@ar 3afEE aamar g
Question ID : 65497837762
Status : Answered
Chosen Option : 4
Q33 Normative economics does NOT involve:
Ans X 1. statements relating to “what ought to be’
+ 2. facts
X 3. value judgement
X 4. opinions
Question ID : 65497837720
Status : Answered
Chosen Option : 4
Q.34 vx aEw # T FAE &, 5 wA B g T FEGHT & FEA F T £
Ans

X 1. qor wfaw, TR
v 2. IR, Ts AT
X 3. UeRITereRY, aTeer

X 4 TRITDRT, TH 8T

Question ID : 65497837743
Status : Answered
Chosen Option : 2

Q35 SR & & BFw Jme & #97 # FAd FrF-aer (elasticity) 3eTHT Hrg-aar g7

Ans

X . I WA Tormer 39T TufeE & o §dar §
x 2.
TH TET foeg FF g ¥ IUAET H ST ST GehaT &

o 3.
T T o 9T 3T U 3T &7 UF OIeT 61T o0 i B

X+ 30 WA W 5@ e ey Alsg @

Question ID : 65497837729
Status : Answered
Chosen Option : 1




Q36 A g=oTe g, e 3% T & & WU gl
A x. ofEe; o Ofag
wz.mﬂﬁmw

x o faftrg; gemr
X 4 goreT; TR

Question ID : 65497837719
Status : Answered
Chosen Option : 2

Q37 grfr wror dF F AT # d F sh sfem Reded & wry Rt Afe

gferera
A/ SraTuE federdr
(i) FF TTFT (a) 50%
(i) T=T TR (b) 35%
(iii) sTare ¥ (€) 15%

Ans w1 i - (@) - (c); iii - (b)
X2 i- (a)ii - (b); iii - (c)
X3 i - (b)ii - (a); iii - (c)
X4 i - (c)ii - (b); iii - (a)

Question ID : 65497837768
Status : Answered
Chosen Option : 4

% AR e AifY & g9, @R !
Ans X1Eﬂ'ﬁ'3’l’ﬁ'€ﬁ-ﬂ'%’

X2 FT qIA

X5 yREE Ry aEe ser ¥

v oIg e g

Question ID : 65497837765
Status : Answered
Chosen Option : 2




Q.39 smE ¥ fFowe 3 #gemr oiew (CAG) dRET |igu &1 # Rl v99 F HgEn oy
¥ i s # sfeaflm geuet & sman fifa B s &

gt S, e
o AT S, G
X 3. AL ITEET, O 3T
o T8 ST G

Question ID : 65497837715
Status : Answered
Chosen Option : 1

0 SRRE § ¥ P T sy w5
A - U7 STl &, Hud T TER g5 & S T 2
B - goT gfawmel &, dEd T=ies 99K F5d F e g g
K e A TR A R
v A 3R B =T wEr £
X3 Faer A TE B
X4 Far AR TB ad gl

Question ID : 65497837741
Status : Answered
Chosen Option : 3

Q41 | owehm 3R # 5B # aeer & B ow F 8 vw A o swer 3w 5o & ant
# 4 TR & ddaor F A |

k. foria FEdm; g

X2 g wfa; &5

v 3 ofz @feeET &7

X 4 YA FIS; FH FIAT

Question ID : 65497837747
Status : Answered
Chosen Option : 3




Q42 goz i ToENT TR F Te F Pl § ¥ FiF @ w5y Teg 22

Ans

o 1.

SrfE O A a9 F TeENT O 3R Rew 3uRt T s e # e e g

X 2 TFET U FoT WCadr T el T H HHaT

x 3.

or 1 Taea =m=Er (Deficit financing) I8 T § B AER ST F T H g 89 99 0 &
#F T AT §, T HAT O AT A7 FE F F o @ S

X 4.

TFFT TET 3¢ 99 & S TR Fr IUW HEGTF13T 1 2T gl

Question ID : 65497837770
Status : Answered
Chosen Option : 3

Q.43 T TR U B A I T TR Far & FHE F F FRIT F TR FH H
Fofs = T REF T ¥

Ans - .

X 1. a1g; a8

3 aré?'; a'r‘é;

Question ID : 65497837742
Status : Answered
Chosen Option : 3

Q.44

Ans

AT F §€ ®, ¥R TH
X 1. g2 HNdcuaEe

X2 gAY srdegarar
X3 fasit sHdeTawer

v 4 AT HdemaTa

@ g

Question ID : 65497837746
Status : Answered
Chosen Option : 4




O T & B F HGER @ # A9 AF o Sew §, A=
Ao e TG % Hea @ TR A R T an

X2
S HaTod aEgH! @ HIAA H g H IS 2
3

=E TG HT A FrAEG F Ieman, 79 F @ G B g
x4

T 39Kt T sRET A gryfEsa R 7 &

Question ID : 65497837727
Status : Answered
Chosen Option : 2

Q.46 7 vF HITITYT FUEA THEAT IF S ¥ TORE AN L A TR sE FEar
An X ganfae 3coes < IEATEE ScuEe

X2 FeIfad 3cIEA = AEdiae 3cage

X3 TS 3caE HUTST ¥

v 4 FeEa 3cde > IIEdEs e

Question ID : 65497837724
Status : Answered
Chosen Option : 4

QA7 gmiTEmSE SFA0 & BEid & R, w5 (3REE 3 g 79 ¥ Row) &5 ot @
e §1 TofafEE & ¥ Fla o ey 3w faeia & ggar = @2

M X R & AR geg X O e A
xeggRFA AT R T ad g

vs SeH &7 3R Feg T gl 3= g &

Xe TR I FHAIN g X AT @ g

Question ID : 65497837753
Status : Answered
Chosen Option : 3

U8 sorEm R FU A gEEA F EEY ¥ e ¥l
M v oo FEEE F s

X2 HF FEg # 3w 3caeA

X 5. TETHAT & ZaTATIEr 3ThET

X 4 FREA # TFAF F EEIC

Question ID : 65497837722
Status : Answered
Chosen Option : 1




Q.49 yowT IeatEidea U9 g9 gEus HfETE, 2003 F Thga g3 o i
§‘31TI
Ans X 1. 26 3TTET 2003; 26 HITEd 2004

v 2 26 3TEd 2003; 5 e 2004
X 3. 5 eI 2003; 26 3Fd 2003

X 4. 5 S[es 2003; 5 TS 2004

H =L

Question ID : 65497837773
Status : Answered
Chosen Option : 3

0 SERRT et F O FiF @ P

x 2.

SeaT iR FEeTE FX - AEOE - e ¥ Y T
~ 3

x 4.

v 1 aTrafas GDP = 30d #eT W NDP + Heaed

3 R & 3gER, GNP = #Fegdr 3k 37 + R + amier + sfaRe sefe sm + @i o +

HYA=T 3T (Disposable income) = =afEded 3T + =TT TcTsT FT

39IST ETd 9 GDP = S5/ He7 9T GDP + H+T - Hieqs

Question ID : 65497837750
Status : Answered
Chosen Option : 1

Q.51 o wwfERERr F BT, 309 F 39 ToX 9 a1 & Sfueas R Ser § @

Al ¢ 1 MR = MC g 3t MC 33 @t &t

X 4 IUMEEr =67

X2MR=MC g 3R MC PR wmrar
X3 MR = AR & 3T MR 33 & &
X4 MR = AR & 3k MR B @r a&r
Question ID : 65497837744
Status : Answered
Chosen Option : 4
Q%2 ot 7%, v 9T FUFAT G@RT AE TS AT g #
Ans X1 e =1
X2 HT T
v 3 HoO FX

Question ID : 65497837725
Status : Answered
Chosen Option : 3




0% SR R ¥ ¥ FF o wuT g

Ans X 1.
9 Sreatas BfEAT T v O §, & Fer S € % 3o sm-afEa 5Ear 7 ¢

X 2.
wrfow BT & e 7 % de & gl 7 i v s Hr Fea g
3

59 foTT WE ¥ 3R & S &, & suwr grer @ B

x 4.
ST Hod &3 F de-ad @ A fna ¥ @y AEEe () =

Question ID : 65497837772
Status : Answered
Chosen Option : 3

Q54 Remittances from a relative working abroad are included:
(i) as transfer payments to individuals

(i)  innational income

Ans 1 Only (i)
X 2. Only (ii)
# 3. Both (i) and (ii)
X 4. Nether (1) nor (il)

Question ID : 65497837752
Status : Answered
Chosen Option : 2

Q.55 is an umbrella organisation for operating refail payments and settlement systems in India, an initiative of
Reserve Bank of India (RBI) and Indian Bank's Association (IBA) under the provisions of the Payment and Settlement
Systems Act, 2007,

Ans X 1. New Payments Corporation of India
X 2. Nation Level Payments and Settlement Corporation
+ 3. National Payments Corporation of India

X 4. National Payments Company of India

Question ID : 65497837774
Status : Answered
Chosen Option : 3

Q.56 gsdm g & F
el ST £l

Ans =g
X2 | q=

X 3. 3cHic
X4 HT

2f & o dequerds gE sRwlE seag @ va TfRewr o

Question ID : 65497837751
Status : Answered
Chosen Option : 3




Q.57

Ans

Which of the following statements is correct?

+ 1. Balance of trade is a part of balance of payment.
X2

Trade in goods and services and net transfers result in capital account surplus.

X 3. When exports exceed imports, there is a trade deficit.
x 4.

Any transaction resulting in a receipt from foreigners is enterad as a debit and is given a negative sign in the capital
account.

Question ID : 65497837771
Status : Answered
Chosen Option : 4

Q.58

Fhw (BIRs) = F 3999 @ Tgfas @ F1 J9 # Fee s ¢ 3 o3F SR @ e A
FUETY 3e9== 2T &

e X P
V2 HTEACHS
X 3. HTRTEA®
X4 G=Tod
Question ID : 65497837754
Status : Answered
Chosen Option : 4
Q59 s ¥ TEd FRET fAedw ¥ 7 (FSC), GIFT & #7 907 &9 Tl
Ans o 1.
Gujarat International Finance Tec-City (F[SRTa $eIAvAdl BISaid oh-Tael)
x 2.
Gandhinagar International Finance Tec-City (FTefiee SeTIeTel BIEAE Coh-1aT)
X3
Gujarat Indian Finance Technology-City (FTd 730 ®Tgai® caalalsional-14e])
x 4.
Gujarat International Finance Technical-City (/= FEAIAT FEAT SFeF-faE)
Question ID : 65497837757
Status : Answered
Chosen Option : 2
Q.60 : <
AT & o FiF @ 7= =1 Jif57 F@a 2
Ans

X 1. gir fafeor
X 2. gTeptaes 3t
v o faega

X o SRR

Question ID : 65497837759
Status : Answered
Chosen Option : 1






